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PRACTICE 2.1-2.4

1. Identify whether each of the following relations is a function. Ifitis not a function, you
must explain WHY
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2. ldentify whether each of the following equations or functions are linear. [f they are not
linear, you must explain WHY

A 2x+y=10

Linear? \!"t". =

If not, why?
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B. f(x) = 4x*
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If not, why?



3. Write the following equations in standard form then identify A, B, and C.

~X+y =0 -1y = -

Dy=x X-U=0 A=l B=-1 10.y =5x + 1 p=B B 4 C-= {
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4. Write an equation in slope-intercept form for the line that is passes through (3,—1) and
is perpendicular to the line y = —3x — 4.

m=-13 W)= v + O _— \

7 s .5\, : ,,.P -
b Wy = \/7‘_) = \"T‘ \,/)) k%)\} ;,‘_k} & L:j = {j) )(
“l= \+b -

-2=b
5. A. Find the slope of the line that passes through (- 2,—4),(3)2) ——
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B. Write an equation in point-slope form for the line in question %A above.
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7. Use the relation {(2,{:3), (2,4), (2, - 1)} to answer the following:

A. Graph the relation.

=i (E
B. Identify the domain: XN

A r*\( 8{
C. Identify the range: )5 -V, 1y

D. Is this relation a function? If not, explain why.
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] T 8. Use the equation y = 3x to answer the following:
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Find each value if f{x) = 2x — 1 and g(x) = 2 — a2,

9.f(0) 10, f(12) 11. g(4)
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9. Write an equation in slope intercept form for the line that has a slope ofg and passes
through (2, 5).
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Graph the line that satisfies each set of conditions.

14. passes through (0, 1), perpendicular to  15. passes through (0, —5), parallel to the

a line whose slope is % graph ofy = 1 =
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10. Write the equation in slope-intercept form for the lines you graphed above.
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11.Write an equation lr%slope-mtercept formjthat passes through (-2, 1), parallel to the line
y=4x-11 B

W= Ll(



